oUESTION BOOKLET
- This question paper contains 17 Hﬂ;‘“‘lﬁns f‘mm HH1T0WHE |
All questions gre compulson

One question carries half mark ©0LY- / & ¥ % ﬁq%aa I I R
Maximum Marks : 85 aﬁnﬁﬂ e : 85
Time : 2 Hours

L. Iceis packed in sawdust because

(A) Sawdust does not stick to the ice,

(B) Of Sawdust it will not get melt easily.
(C) Sawdust is a good conductor of heat.
(D) Sawdust is a poor conductor of heat.

wth Y SR 3 Qe FHA1 I &, i
(A) T % A Fyvwar 7 @ |

(B) TR % SN I NI A 7 Rt |
(C) ST oA 1 YA ¢ |

(D) WWWW%

When a stone is thl'ownhmlmwater of anor
(A) Longitudinal wave™

3) Transverse wave
(C) Both (A)and (B)' , (D) \None of these
TE A & a9 mhm 4 g
(A) Jrgeed v . %
©) (A) 3 (B)3W o § 1§ T
Sun appears red in colour during s and sunset due to

(A) The fact that sun emits only red colour at that time
~ (B) Red light having longer wavelength scatters away.
(C) The fact that all other colours scatter away except red.
D Noneofthese et’'s do 11 toge
: a‘m'-r er 1 R e & T
(A) wawf%ﬁ Faet AT O Jetoia ST @ |
(B) et YT ﬁwﬁh@imwmﬁﬂf@?ﬁﬁl
(C) 78 aw T oft =1 T wehiffa 2 & e wret

(D) FHABE T

4.  Which phenomenon do bat or dolphins used to find prey, predators or obstacles ?
(A) Refraction of sound (B) Formation of beats
(C) Scattering of sound (D) Echo

Wmsﬁ%ﬂﬁm,mﬂﬂmmmwm%mm
TRaeT T T W & 7

(A) &y a1 T (B) Ty = Fmim
(C) @&f =1 &R (D) Wi
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ined on the ba
5.  The swing of a spinning cricket ball in air can beé explal Ses of

i ' of air
(A) Sudden change in wind direction(B) Buoyancy

: f these
(C) Turbulence caused by W‘%‘%ﬂ a’,ﬁ:‘ ;:nm:t O ST Feha @

fom gt e wiet 1 &l
F:) wﬂgﬁmﬁmqﬂﬁﬁﬂ (B) w1

(C) & gra e Faei (D) waHE T
6. A ﬂying jet possesses .
A - (B) Kinetic energy
égi ifitﬁmg;gy (D) Both (A)and (B) |
ST # gt R
(A) Rufywsai B) "Mt (C) wAsat (D) (A)3k (@)

7. Tunggtep is used for the manufacture of the filament of an electric bulb

becayge
(A) Itisq good conductor (B) Itis economical
%It is malleable . (D) It has a very high melting point
e 3 fremiee ¥ Fmfon 35 for S w51 s R e & i
(A) 7% 7% gemw d | (B) Tawm |
(C) & smuTradtia f | (D) ¥ Hfy 3= e B @ |
8. Vegetables are cooked in lesser time by adding a pinch of salt while cooking
becauge

(A) Boiling point of water increases

Latent heat of vaporization of water decreases
(C) Latent heat of vaporization of water increases
(D) Boiling point of water decreases
T I % T 61 e vt & w5 W o v et i
(A) T % weeie wg o k| (B) 1% % 15 ) 7 oz e B |
(C) 1 & oo i ra Fwmwg I Y | (D) ST W1 YT T2 e |

9  Vinegar is the common name of

(A) Acetic acid (B) Hydrochloric acid

C) Citric acid ) (D) Oxalic acid
THT AT TH |

(A) wHhfew fire (B) ETYgritives ufire

(C) fafew fire (D) wiferes ufre

10.  pH of the human blood is
(A) Slightly acigic (B) Highly acidic(C) Slightly basic (D) Highly basic
A9 T W1 pH
(A) Wrg e (B) WY (C) Ymatn (D) w an
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(eomMeretal form ol iron 7

LL Which iy the pares )
(A Pigion ::‘)’} *"\:f“' "
() Stainless Stee - rought iron
O a1 o by gttt D g 7
(\) aetudl et (0 el (€) wAe Wl (D) ﬁd?ﬂ'ﬁl

i o five extinguisher ?
(B) Carbon monoxide

%J) Nitrogen
v 1

12, Which gas is used b
(A) Carbon dioxide
() Sulphur diexiee

Svfrgres 3 v i 16t e ol s e

(A) el SryHIFHINS (B)
() Hewt SIYATHITNS (D) TR

13.  What is washing soda ?
(A) Aluminium bicarbonate

() Aluminium sulphate

(B) Sodium bicarbonate
(D) Sodium carbonate

uTe HigT R 7
(A) T agsmEie (B) WfTm wTgwTEE
(€) Tgffam e (D) W FrEtHe
14,  Which gas is used to destroy the microbes ?
(A) Chlorine  (B) Oxygen C) Hydrogen (D) Neon

¥ foru R e w1 v fea ST @ 7
B

St & AT
hﬁéﬁm ( ma‘fﬂhm (C) Tweem (D) Fafa
15. € amgm r system is
) (B) Memory (C) CPU (D) Control Unit

A) ALU
R T T AT 8 '
(A) ALU (B) WWH (C) CPU (D) foretaron g
16. The QWERTY keyboard
(B) is the fastest keyboard

(A) is the most popular keyboard
(C) is a keyboard that is rarely used (D) All of these

e rty) F-818
(A) %”m N-AER |

(B) Haa A-aS 8 |
(C) -8 £ 7 P -FWR @ TR R |

(D) & @

17.  Which is a collection of information saved as a unit ?
(A) file (B) folder (QC) path (D) file extengion
N |1 7T & ¥ GRm qEm H AR e 7

(B) WiFEt (C) ™ (D) WTEE TRy

—l———h_-‘.
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18, ms-office ?

of
is i jon @
m rﬁmclﬂ!;; er';l:c:glg:#:% 2 ;CJ Office99 (D) Office 2000
o Ay QGH = HHH H
(A) HifRE 95 (B) ﬂfﬁ’-“g? {C] ifsm 99 (D) 3TITHE 2000
19, ctivate office assistant i MS-Word click at
g:“ﬂﬁ’“'% '-' B) V'ﬂw T ER% Insert m§:}: Help 2
i fereTeh e &
M) T (B) q- (©) g:qi — () ¥ 1

. :Arfu‘::ﬂ ;:;EE of AutoCorrect :md AutuTaxl is reslrmtmi Lo
(C) Agg :r%e opened dn:umrmt ( E Eﬂ{,’;ﬁ ;i:::um ; i

TATH-
(A) IELTA {B) mmam
(C) W e Twa (D) (A)3iR (B)F
21.  In MS-Word, to get [0 the *‘Symbol’ dialog box, click oP the menu
fid c'?‘miﬂ symb[-jftﬂl Table (C) F (D) Insert
§
: -:; 3§ ‘Reate’ STgelin wE W FR i(;mf;? i T ferm T
i ‘Rﬂ!fﬂ qf e |
(A) T (B) W (C) Wi (D) ¥
22, Each line represent: how m Erf‘y letters in Wordstar ?
wter i S 1 weRin et § 7
(A) 65 (B) 70 (C) 80 (D) 85

is family of styles such as Arial, Geneva, Modem etc.
(A) Format (B) Fontface (C) Form letter (D) Form

qu!ﬁim. e anfe Sreh wrge ) Sfeeh B |
(A) WHE (B) WR¥  (C) WHAR (D) W

g, Toprinta ducumam,m;ress key then press enter,
% Zemi ®) fire W & doft g & R TR TR & |
(AJ shit+P  (B) Ctrl+P (C) Alt+P (D) Esc+P
rd ‘EXORDIUM’ is written as ‘QXKEVRZF’

, certain code |
Huw wull the wnrd IE ﬂTION‘ be written in that lan ?
(D) None of these

23.

&m JFHE RRKVEHFJ (C) JHFE
EW = ‘EXORDIUM’ %1 ‘QXKE 'imiiﬂmm

| vy TR ‘IDEATION’ % S foran s 7
i & o Tl

{ﬁ) JFHEUKRR (B) RRKVEHFJ (C) JHFEVKRR (D)
§6 No. ; C-678/2021/Serles-C e T T




ds North. F '
26. Ravi walks 10 km ‘”w:.rrarc_ls East, H"Om there, he walks 6 km towards South,

then he walks 3 km F"g into oW far and in which direction is he with
" n .

& T e B) $fm Nord Eat

t%g%%?ﬁzﬂmmm%'ﬁﬁﬂmﬁmﬁmm%lﬁazggtﬁ

B 3 3 on e & | 97 T 1972 35 ey 3 7 e g o R R 2 7

(A) 5 km, yfead (B) 5km,3W-

(C) 7km, @ (D) 7 km, Iw-ufram

27. Day after tomorrow iS my birthday. On the same day, next week, falls
Rakshabandhan. Today is Monday. What will be the day  afier
Rakshabandhan ?

(A) Tuesday Q Wednesda);mgf) Thursday (D) Friday
He & arg.arer fe 30 ST B | I Tavg 39 fem vrae Anam
R | Ty & 96 S W 7 g 7 Kl

(A) WEER  (B) FWER (C) TR (D) IR
\28. In a class Smita is 6™ from the top and Harsha is 18" from the bottom.

Mangesh is 14 ranks below Smita and 15 ranks above H
students are there in the class ?

U e H R S & ot R ok gl AR @ sreredi @ | v R &
INFR ISTHINR | wn A ot e o & 2 tI M

9 (A) 52 (B) 53 (C) 54 (D) 55

29., Pointing to a photograph Arun said, “She is the mother of my brother’s son’s
wife’s daughter”. How is Arun related to the lady ?

arsha. How many

(A) Cousin (B) -Aunt )

(C) Daugh%.g-r:aw - (D) !;or“l;;fﬁ{hﬁa‘ PRI

w m T HJY Hgdl ’
_kﬁmtl“mmﬂﬁm%%mmt? N w
:;' (A) WM (B) =mh (€) =g (D) ¥ & Fid 7

36, o Monday falls on 4" April, 1988. What was the day on 3" November, 1987 ?
~ (A) Tuesday  (B) Wednesday (C) Sunday D) Monda
;M4m,,|ﬁs1wﬁ|3m,ws7ﬁaﬁam%m? Y

L (A) FEER - (B) qHEW (C) Toam (D) WwER

31. , 'BF" is related to ‘DH’ in the same way as ‘PS’ is related to which of the
following ?
e

p R .
y ‘BF’, ‘DH’ & 3¢t yem wrafRya § 4 fps'@ﬁ';'sﬁ%fkaﬂMt ?
S (A) SU (B) SV (C) RV (D) RU
326 Cnmﬂ%?Order::CorHQ{gn:? >T.U STU-

" (A) Discipline (B) Probl ' i
%m]m:sm m: m{{; el&ﬁ‘l(C) Chaos (D) Clarity

(A) ¥mET (B) ®wen (C) 3=ma=n (D) wwm
I e - Y T T T




3.

34,

38.

36.

3.

38,

the right in Enel;
Which letter is 8% to the left of seventh letter O™ gh nglish

alphabet series ? ;

A AT 3 78 e e o v AR 7 .

(A) O B) A oL . OF

How many meaningful English words can be made with the letters ‘ENAL*
using each letter only once in each word ? E

(A) One (B) Two (C) Three (D) Four R

W Wz ¥ FRIF R T Fae T G wam w@ g ENAL’ I @ ey

U it &g FATC N wHA 8 7

(A) T ® (©) dm (D) WW

The Armed Forces of which country participated in the Republic Day Parade
of India in the year 2021 ?

(A) Nepal (B) Bangladesh

(C) United Kingdom (D) Bhutan

T 2021 % wyew 3 oA e R 3 e 29 B wIr St Y e R ?

(A) e (B) Weew  (C) FwesfoeA (D) e

Which country recently signed an order to allow transgender persons to serve
in Military roles ?

(A) Singapore (B) United States(C) New Zealand (D) India
ﬁmhimﬂﬁzﬁﬂm@rﬁ%hmﬁﬁmmﬁﬁ JAfe 1 IRy
weTaie f 7 '

(A) fermy (B) FTHERW (C) v (D) W

Which?organisntion released the ‘World Economic Situation and Prospects
2021’

(A) World Bank (B) International Monetary Fund
(C) United Nations (D)_Asian Development Bank

B | WA mﬁﬁﬁﬁmﬁwmm:@'ﬂmﬁﬂ ?
A) fads (B) WIS w1 iy

(C) wgwTg (D) uftraré frevrer &

Which Indian State has recently launched a new initiative named °*Jaj]
tourism’ ?

(A) Andaman & Nicobar Islands  (B) Maharashtra

(C) Gujarat (D) West Bengal

P et v 3 arer € e e v 76 v oy 14 7

(C) T (D) wfvem s
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39.

40

41,

42,

43.

44,

C—

ThecSion Bud get- Mebile application has been recently deve]
which Institution tics Centre

g. National Infolﬁ‘;? Emergency Reg

e g‘:ﬁ:ﬁ ggm%f Telecommunicatiol::gnse o

D) None of these i
e g g A I we T ettt Rl 1 5

(A) TS g (B) 0% Foiex Wit g i

(C) TR . (D) wHawdT

The World Health Organization (WHO) has collaborated

which company to distribute Covid Vaccines under Covax alli rer it
(A) Pfizer (B) Roche .

C) Merck J
%wwmm(woﬁmﬁﬁgm%m%wmmm

Oped b}r

H % forg forw oot & wr e e R
(A) PTER | (B) U
(C) wh (D) e QU8 e

Mohammed Ishtaye, which was in news recently is the Pri Tt
which country ? Y 1s the Prime Minister of

A) Palestine  (B) Israe] (C) P D .
ﬁmm,ﬁm&mmm i:;uﬂ'lﬂﬂ!ﬁﬂ?( ) Argentina

A) ¥efm  B) w (O (D) ¥
“Toshali National Crafts Mela’ was recentl ised in which S

EA} ek ng yB?Il.I'%:m in which State/UT ?
C) Uttarakhand D) Andhra Pradesh

“araeht e firew wen” v o & fe T /it wew # s gan e 7
(A) nfEm (B) fien (C) JmmvE (D) WU

Who is the author of recently published book titled ‘The Making of Aadhar :
World's Largest Identity Platform’ ?

%A) Nandan Nilekani %B% AK. Sikri

C)_Kris Gopalakrishnan D) None of these

ﬁﬂ?ﬁﬂ:m:w{qmﬁw%@mﬂ'mmﬁimﬂm
[

m‘mm (B) U, Hiwd

(C) i TiTerpom (D) W @ w7

Which countr¥ was in focus at the 51* International Film Festival of India

IFFI) in Goa
B) SriLanka (C) Russia (D) Bangladesh
%iﬁ%sli%mm(lpmﬁmmh %"31? ,

(A) Wi (B) T (C) firm (D) WMy

. hical der forest in HP i
Total ge;gag ical area under fores 13’ ; i8

¥
(A) 37,033km? (B) 39,343km? (C) 41,567 km® (D) 43,343 2

s S T S S— U — T ———— A — ) —— T ——
oy vt T i A———— ——



eirict of HP. 7
' andla Dhar are located in which distri® ‘
6. Kot and Ban (8) Hamirpur  (C) Kangfd (D) Mandi

(A) Bilaspur L
ity i R fRwree YeO & R
{T; femat (D) g (C) TS (D) wu
fH.P.?

wildlife Sanctuary is located in which district o

47 Tundah ;
: B Una (C) Kullu (D) Shimia
X O INCC
(A) e (B) &A1 (C) %ee (D) famren
. Dehar js o wibutary of which river of H.P. ?
[MIHE-EM (B) Satlyj (C) Ravi (D) None of these
LB firras g ) form 78 ) wEw T 8 7

(A) forg (@) ®ge () W (D) FHARE

. Rupa Valiey is in which district of H.P. 7
(A) Sirmour  (B) Solan (C) Kinnaur. + () None of these

T e e wen 6 fow e R @ 0
(A) froe  (B) dem () fest © (D) A wd

S0. Bhunda festival is celehrited in which district of H.P, ?
(A) Lahaul-Spid (B) Mandi (C) Una (D) None of these
Ve e fermrere i & o forsh of wama s 8 7

(A) Fméle-sifs () wveh (C) & (D) i @ W i
81, Gochi festival is celebrated in which district of HP ?

(A) Kangra (B) Kullu (C) Mandi (D) None of th
Tiret g fimmeret yem & fovw Rt o wmen e @ 7 N

(A) wimg (B) ¥ (C) wvdh (D) Wil & ¥

52, Rani Khairgarhi belongéd to which district of HLP. 2
(A) Chamba ~ (B) Kanga  (C) Sifmowr (D) Mandi
Tt T fiwreret wam & v A & s @ o

(A) = (B) g (C) fermdhe (D) T
53,  Garhkuffar lake is located in which district of H.p, ?

(A) Shimla (B) Kinnaur  (C) Lahaul-Spiti (D) U
e e foee SR e R R g

(A) faren B) fin (C) wmw-ehfy (D)

n—'r'-'"""'"_-'-“
e
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Sd,

55,

56.

57.

59.

60.

61.

62.

First Governor Gener®l visit Shimla was
{Ai Lord Mayo (B) Lord Dalhousie

(C) Lord Curzon (D) Lord Amherst

Foreren 8 < e W TR e

(A) wigiy  (B) H‘gm@ﬁ“ (C) WEFM (D) ¥ g
First private university of H.P. ig _

(A) Jaypee Universtty of Information Technology

(B) Eternal Universtty

(C) Chitkara University

1) Ami University
%%ma] mn%g;’};mﬁz 3

(A) S} A FE! (B) et g
(C) Taewm gfafdd (D) i ghafEA
Dalhousie was founded in which year ?
EQLEIRIRSIEIRE R F el

(A) 1850 AD  (B) 1B60AD (C) 1870AD (D) 1880 AD
Sirmauri Tal fort is located at which place in H.P. ?

A) Rajgarh (B) Renuka (C) San (D) Paonta Sahib
e e T A AT O R T e

(A) TG B) & (C) R (D) Waafa
Which is popularly known as ‘Land of Grapes® ?

A) Bh (B)  Pangi C) Kaza Ribba
L s SO L

(A) WG (B) (C) & D) =
Ardhnarishwar Temple is located at which place in HP. ?

Manali B) Mandi C) Nahan Nal
LN o - WU o T
(A) TR (B) wwEh (C) e D) TG
Theog dominion was founded by
A) JaiChand (B) DeepChand (C) Karam Chand(D) Hem Chand

T ! v feee 7
(A) TR @B) d@<e  (C) ¥ (D) ®ER
Bhuri Singh Museum was founded in which year 7
yft e ) v e aE g 2
(A) 1904 AD (B) 1906 AD (C) 1908 AD (D) 1910AD

Territorial Council was abolished in which year in HP.?

'y, 3 e gt foem a3 gETa S 7
ﬁ) 1956 AD (B) 1957AD  (C) 1960AD (D) 1963 AD

1 Code No. :C—imwc



ﬁ ﬁ L]
67.
68,
69.
70.
1.
12.
73,

T4,

7.
76.
.
8.

79.

ich is the executing agency of Uhl-III h:,rdmelt’-ﬂﬂ'if projectof H.p, 9
%ﬁ%;&%wﬁ-mﬂﬁﬁqﬁmﬁwmﬂm#% ?
(A) HPSEB  (B) BBMB (C) SJIVNL (D) NHrC

‘Karthi’ is a folk dance of which district of H.P. ? |
(A) Kullu ) Chamba _ (C) Kangra (D) Hamirpy

"l foreret YR 5 o6 TR 1 I §
(A) T (B) =& (C) g (D) iy
Directigns : (Q. 65 to 69) : Choose the correctly spelt word out of the foy,

8iven alternatives (A), (B, (C) and (D).
(A) T O ik () Tofic (D) Traffk

(A) Maneger  (B) Manager  (C) Mangjar (D) Manajer

(A) Vehicle  (B) Vehikle  (C) Vehikal (D) Vehikel

(A) Signe]  (B) Secgnal  (C) Sigmel (D) Signal

(A) Police  (B) Pulice  (C) Poolice (D) Polise
Directions ; (Q. 70 to 74) : Choose the most appropriate option out of the
four given altematives (A), (B), (C) and (D) to fill in the hlanks.

Washing machines popular in India in the last ten years or so.
(A) became (B) urebecome (C) have become (D) are becoming
The ruling party will have to put its own house order.

(A) into (B) to (C) in (D) on

More than twenty years have now passed I had my first flight.
(A) afler (B) while  (C) when (D) since

Have you finished reading the book ?Nolam _in the middle of it.
(A) already (B) still (C) yet (D) till

Genius does what it must, and talent does what it :

(A) can (B) would (C) may (D) should

Directions : (Q. 75 to 79) : Choose the most appropriate word out of four

alternatives (A), (B), (C) and (D) which best conveys the meaning of the

given expressions.
A person who enters without any invitation.

(A) Burglar (B) Intruder  (C) Thief (D) Vandal
A slow-witted and incompetent person

(A) Nigger (B) Dud (C) Snotty (D) Duffer
A speech by an actor at the end of a play

(A) Epilogue (B) Monologue (C) Duologue (D) Prologue
A small piece of wood

(A) Splinter (B) Crumb (C) Scrap (D) Chip
Line at which the earth or sea and sky seem to meet

(A) Horizon  (B) Zenith  (C) Fringe (D) Plinth

Code No. ; C-678/2021/Serles-C
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91.

92.

93.

24.

FiEm (3, 308 84) IR T
(A) <ieh @) HC (©) = (D) <=

. (A) efrdfrs (B) gfost (€) Twf= (D) fafra

@A) P @ T (€) Fw (D) Him

(A) wEwh (B) TED (C) waasHh (D) e
(A) 3 B) ©) W (D) T
‘oI WA

(A) weged (B) J=ivEe  (C) &% (D) e
‘o' 1 Efu-fade B

(A 9+3  (B) f+am  (C) M+3m (D) R+am
‘TR I T I B

(Mﬁ'ﬁ (B) @ ©) wem (D) Fw

§%W (C) waeR (D) wdm

e L
(A) (B) Wi (C) (D) wif
‘YT ) WTEETES H3 8

(A) wilh (B) W (€) wit (D) Wit
T 1 e @

(A) Felen (B) rRfem (C) =l (D) &R
FEH 1 AT R

(A « (B) fafw (C) g (D) WR
T T TR 1 1 R

(A) TRt Vi T 9T &I (B) 3w Fe

(C) i g (D) i Rew

BT & Tl Ao TN’ o FoTY U JTYT I B

(A) (B) 39ga (C) W (D) HUE

i1 . C-678/2021/Series,



98,

96,

97.

98.

99!

100,

101,

The Indus Valley people worshiped

A) Mother Goddess (B) Indr3

EC; Varuna (D) Mitrd

Riy ord) & A T w3 o

(A) mgedt (B) ¥ (C) =¥ (D)

The Rigveda consists of how many hymns ?

T PR g A TR ?

(A) 1008 (B) 1028 (C) 1108 (D) 1224
Gautamga Buddha was brought up by o

(A) Mayadevi (B) Sangamitra (C) Mahaprajapati (D) Kundavi
T g 5y e - Gveor e fov ot 7

(A) Wt (@) wnften (C) WenEWR (D) F
Who among the following accepted Jainism ?

(A) Bindusara (B) Ajatashatru
(C) Chandragupta Maurya (D) Pulakesin
et 3 faerd 9 v el o 7

A) frger (B) I (C) W (D) TeRRE

Who was not a Saka ruler ?
(A) Rudradaman (B) Menander (C) Sodasa (D) Nahapana
W19 | W s T 7

(A) SZEmA (B) Tz (C) wrew (D) ARTH
Which was not a kingdom in ancient India ?

(A) Avanti (B) Vatsa (C) Hampi (D) Kosala
cocko b eichichedc R ok B

(A) I (B) ¥w () vt (D) W
In which region of India was the Firdausi order of Sufism popular ?

(A) Sind (B) Deccan

(C) In & around Dethi (D) Bihar

yRE % frar & 3 GRTR w1 Rt Rrftren iy oy 2
(A) fi (B) gftgoy

(C) ReehtiidMFS V9w (D) frgw

Code No. : C_ﬁ-;g,lzu:l,-'s:rles-ﬂ | 14 e ———




102.

lujl

104.

105.

106.

107.

108.

109.

Sutviieh belonged (B) Konkan region
A dhra region
2 e (D) Kalinga

(C) Maharashtra
HITHTREA _
(A) s Rd (B POTEAR () wmgd (D) FRmd

Babar won the Battle of Panipat mainly because of
(B) his military skill

(A) hiscaralyC em (D) Afehan's disunity

C) Tulugh ste an's disuni

B e & o 1 o T o 7

(A) FE) gogar /1 (B) 35 8 Hiwe

(C) gormn gl (D) FHTH! B

Which Sikh Guru laid the foundation of the city of Amritsar ?

(A) Guru Nanak (B) Guru Ramdas

g:‘% Guru Arjun Dev (D) Guru Gobind Singh
femIamm s faw 7 _

(A) W%  (B) WM (C) M (D) Temiew e

Who succeeded Mir Jafar ?

(A) Haider Ali (B) ChandaSahib(C) Tipu Sultan (D) Mir Kasim
rﬁtmmwﬂﬁﬁﬁr&aﬂa‘m?
(A) tmwsht  (B) wigwfE (C) dyEwW (D) WM

Gandhara school of art developed during the time of

(A) Sungas (B) Sakas (C) Mauryas (D) Kushans
TR e et e hren 3 v vl g 2

(A) T (B) W (C) wd (D) ™
Fatehpur Sikri was founded by

(A) Akbar (B) Babar (C) Humayun (D) Jahangi
e et ) T e Y 7 af
(A) FFS (B) s () v (D) wEhfit

Who was the author of ‘Humayun Nama’ ?

(A) Gulbadan Begum (B) Humayun

(C) Faizi (D) Abul Fazal
‘GARIATAT' 1 AEE B AT 7

(A) TEREA¥™ (B) Y (€) i (D) A ey
Chengiz Khan was a

(A) Turk (B) Mongol (C) Persian (D) Afghan

Cuckc o) _
(A) T (B) Wiw (©) e (D) W
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110. Al Hilal newspaper was started by

(A) Abul Kalam Azad
(C) Mohammad Ah
are feerer garm-93
(A) HGE FHEH AT
(C) wireng eft

ey fomay

(B) Mahatma Gandhi
(D) Syed Ahmed Khan

q 7

(B) WewH e
(D) #%% 3EWE @H

111, The slogan ‘Inquilab Zindabad’ was first raised by

(A) Lokmanya Tilak
(C) Chandrashekhar Azad

(B) Veer Savarkar
(D) Bhagat Singh

yrenerr frrae’ Ar welem R g R 7
(A) wrenr foers (B) i HrawHt
(C) =GR AT (D) swrafie
112, Uplift of the backward classes was the main programme of the
{2; Arya Samaj (B) Ramkrishna Mission
Prarthana Samaj (D) Satyashodhak Samaj
k‘ﬂ% a1l &1 e Forram e srdsmm o1 7
(A) SRR (B) g B (C) weknER (D) weaviee m
113. Vallabhbhai Patel was born at
(A) Borsad (B) Baroda (C) Ahmedabad (D) Nadiad

TER 1 T g

g
DRERamSIT

(A) Communal riots in Bengal
(C) Social legislation in Madras

Wl K|
(A) ﬁnﬂwmrﬂm::ﬁ

(C) wgm % amnfores fyurm

(C) ¥ewqer (D) Jfgar

(B) Massacre at Amritsar
(D) None of these

(B) Y THER
(D) %9 @ %Y 7

115, Which of the following describes India as a secular state ?

(A) Fundamental Rights
g #Dlreutive Principles

(B) Ninth Schedule

D , -
A W1 W ) o - e o ;'fiﬁ :ﬁ%ﬁ;‘g ";”" Constitution

sftwn
(©) e e

(B) et
(D) Hﬁm?g'm

116. One third of the members of the Rajya Sabha retire afier every

(A) Oneyear (B) Second year (C) Third .
wsn mmm#mﬁrﬂzﬂm%ﬂm |F'nhyear
(A) Thad  (B) wmad

— — i R e o .
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117. The legislative powers are yested in the

(A) President (B) Parliament
C) Prime Minister (D) Governor
et

4
(A) mufad  (B) wag A (C) yurifid (D) TAWTEl®
{18. The age of retirement of the Judges of the High court is

(A) 62years  (B) 63 (C) 60years (D) None of these

I =TT % AT Lo ECE
(A) 6274 B) 65%4 (C) 60w (D) FRATETH

{19. In which year were the first general elections held in India ?
T & WUH W T e ad A ge Y ?
(A) 1947-48  (B) 1948-49  (C) 1950-51 (D) 1951-52
120. Total number of schedules now in Indian Constitution is
T G B T 1 S e e @
(A) 8 (B) 10 (C) 12 (D) 14
121. The state having the largest population of Scheduled castes is
(A) Uttar Pradesh (B Bihar (C) Tamil Nadu (D) Rajasthan
gt wfeal 1 a1 T 8
(A) mwm  (B) fEm (C) afemrg (D) TwEEH
122, The president of USA is elected after every
(A) 3 years (B) 4 years (C) 5 years (D‘ 6 years
H T ST B T T g € |
(A) 3 (B) 4 (C) S (D) 6%d
{23, Which is regarded as guardian of the Constitution of India ?
(A) The Parliament (B) The Attorney General
(D) The President

C) The Supreme Court
%mﬂwmmmmmt?
(B) FHiwwm (C) o =werd (D) gt

(A) W%
124, Who is elected by single-transferable vote method in India 9
" (A) Spesor of Lok Sabbe (B) Chief Minister
(D) Prime Minister

C) President
gﬂ;mim-mmquuﬂlm g g 7 _
(A) Swaneiw®) e - (©) aga (D) W
128, Which is presided byanon-member? ‘
%anya Sabha (B) Lok Sabha (C) Vidhan Sabha (D) None of these
eayren -9 g0 9 et @ 7
) Rumwn (D) wHAWET

(A) TR@w  (B) Ww@N
- 17 Code No. : C-678/2021/Serles-C'
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' i issioner of Indig 9
126, Who was the first Chief Election Commission¢ ndia |
(A) K.V.K. Sundaram ) T. S“WMM

C) Sukumar Sen (D) G.V-Maviankar
IE.',“;[&;M e frafem IR S 2
(A) HAE. Az (B) a. W"“m

127. From which Ianguage has the term *democracy’ hﬁ'rldenved?
(A) Greek (B) Hebrew (C) English D
-  ft v A e (D) Latin
(A) g (B) wwFh (C) rh (D) &

128. Who has termed Constitution a sacred document ?

(A) E;: B.R. Ambedkar (B) M.K. Gandhi
a Lsupa (D) Sardar Patel
'hﬂﬁ 1 Ui Teare wE R 7
(A) 2. 3R, g (B) W%, mith
(C) <ren wiewd 1y (D) TER %
129. The joint sitting of both houses of parliament is presided over by
(A) President (B) Vice President
(C) Lok Sabha Speaker (D) None of these

HHE, % S HeH h) W W Y e e g € T 2 7
(A) TgFfe (B) -t (C) dwwnEiw(D) wE A wE T

130. If' lhere 1 no sun, the colour of the sky would be

(B) Blue (C) Yellow (D) None of th
ﬂﬁqﬁ .48 one of these

(A) ‘"T'ff (B) en (C) e (D) @& 7

131, EH ‘j:"ang:lmen l::tllii}‘ Lljnun (©) Earth
upiter ranus ) Ean (D) Moo
‘o orf St & '

(A) EERW  (B) PEW  (C) AW (D) wEmw

132, Thu local time of a place is known with reference to its

Dlstance frnm the capital city E Height above the sea level
Lanmdm gition D) Longitudinal position
I H L AT AR |

(A) Turh TR AT (B) W WU S i

(C) Wiy R (D) ety fRufa

133, In the nuuthem hemisphere the westerlies blow from
North East  (C) North West (D)
(A) North o e o South East

e &
?;Tnmﬁ (B) IW-@&  (C) IM-fema (D) - @

= | e s e
il , e ———
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: 5 o ETIOW ’
134. The core of the earth is also KROWN as

135,

136.

137.

138,

139.

140.

141.

(A) Lithosphere (B) MeSOSPReTe (C) Barysphere (D) Centrosphere
geeft oY o ) o o T T B

(A) Reiefror (B) PEERR(C) Ypham (D) Fredism

The Voleanic region ‘Ring of Fire’ SUITounds

(A) Indian Ocean(B) m};mti: Ocezn (C) pece ‘
&7 ‘T 37s wEt ﬁl’ﬂgm% ic Ocean (D) Pacific Ocean

(A) 187 TRIHPR (B)  srenfors memmrr
(C) Hrhfes TEmmR (D) = W
Which is a cold ocean curreny 2
(A) GUIfSHEﬂm {B.’I .

. ) Kuroshio Curremt
{CJ Brazil Current ) Be »

(A) TEE®  (B) FiMshum () sehmum (D) ES
Which is a tropical grassland ?

(A) Savanna  (B) Velds C '
ﬁ?mawmmmﬂa;%? jv) Pres

(A) waT (B) de3 (C) Y= (D) T

Negroes of South-West Africa are called

(A) Niggers  (B) Blacks (C) Hottentots (D) Pygmies
Sfin-vivam snhte & o weem &

(A) TN (B) =% (C) Teem (D) fmfiw

(D) Pampas

Namibia is the new name of

(A) Cambodia (B) Zaire

(C) Rhodesia (D) South-West Africa
i fresm T am R 7

(A) F=fEam (B) vt

(C) w@efmm (D) Thew v whw
Which is an archipelago ?

(A) Buma (B) Malaysia (C) Philippines (D) Vietnam
M G T TR © 7

(A) T B) W@ () Peidiw (D) fm
The world’s longest river is
(A) Nile (B) G‘-'fllg_ﬁ:s' Eh _
C) ﬁu:;g:%ﬂ 2 (D) Mississippi-Missourt
&
(A) T (B) T (C) W ) frfifted-frid




| is in which country ? :
Wﬁ%ﬂ“ﬁﬂ ?

(A) aFemem  (B) W (C) wrd (D) Wiy
143. Gondwana hills are located in which state 7

_ B) Bihar (C) Odisha  (p) ...
o T e T o 7 Tikzgan

(A) T™I%®  (B) Pmr © sfm aftrerrg
144, Tungabhadra is a tributary of which river ?

A) Mahanadi  (B) Narmada (C) Tapti D) Kris
éﬂﬂmﬁmﬁmm?ﬂ? N . Ketnn

(A) wErd) (B) Ty (C) et (D) Fom
145, Which city has the longest day in the month of June 7

A) Delhi ) Kolkata C) Chennaj
gﬁamﬁmmﬁ(ﬂmﬁmﬁa@m“ o (D) Bangalun

(A) freeft B) Fwwm () I (D) Frege
146. Ranthambor is famous for

(A) Tiger B) Elephan C) Rhi
Eﬁ ﬁqgﬁ:ﬁﬁ?t (C) Rhinocergs (D) Panther

(A) g (B) wrfh (C) e (D) g
147. Srisailam hydroelectric gl_mje:t is on the river

(A) Sharavati ) hadra (C Krishna D
ﬁgmmﬁga %ﬂtﬂ?{ i ) Cuves
(A) v (B) . T (©) %o (D) #wadt

148. {E:Z:liuﬁ F!nﬂlis related to 8; o B
lood con Dairy development
C) Fish None of th
4 1 Eﬂﬂlﬂ %? one of these

(A) s@fam  (B) i fiem €) woehwem (D) T H

Y f ONGC is si d
149 &f 'E?dh&wﬁ nB} mhm_tuate (E:t) Chenai ©) Kolkas
(ONGC) 1 Jeamery fe &

(A) ZEeH (B) ww§ (C) w=r§ (D) e
150, Barter transactions meang

exchanged with Coins are exc d for goods
{é)) Mﬁmmmmm }Privat:nmmf-‘l‘%ﬁge o

- e emew #
FE mmmmﬁﬁmﬂmtlm} e % fov Rt o R v 21

(€) mueER T AT wmR | (D) Frofweg
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151. Stagflation is defined as '
(J“-J!T Low inflation, low grr.w-'lh- I“_"":I”flcn,
(B) High inflation, low gruwill. f";-'l
(C) High inflation, high growth. high
D) None of these

Pﬁrﬁmﬁqﬁmﬁmﬁrmq@% (B
(A) Freradif, fmgfe, fa ™ () S enf. e af, va i
(C) w= vhify, 3= gfz, s atemd (D) wia o °

152. Gross National Product means
(A) Gross value of raw materials
(B) Gross value of finished gnﬂd5 _
(C) Money values of the total national Production for any given period,
(D) None of these
Hhel U Ieqre = 374 2
(A) F= oTa 1 G §eg
(B) &am ore &1 g ‘
(C) ﬁﬁgﬁﬁnﬁmﬁ:%ﬁqwmwmm’ﬁ
(D) 378 & wrd 77

153. Which is related to banking reform 9
(A) Narasimhan Committee
(C) Chakravarti Committee

I T Ak gun @ gEtim R ¢

iy Ployment
u “Mployment
lleplu}-nn:nl

(B) L.C. Gupta Committee
(D) Kelkar Committee

(A) Taee afufa (B) U@ Hi. T afufy
(C) e wfufa (D) FHerat Afafa

54. Which is not a quantitative credit control measure of a Central Bank ?
(A) Bank Rate Policy (B) Open Market Operations
(C) Cash Reserve Ratio (D) Moral suasion
aﬂqm_?ﬁduhmﬁmwmmﬁuﬂmmu}qﬁ% 7
(A) % g Aifa (B) W Aram =y foramd
(C) e HraTuTa (D) A ey

»5. Corporation tax is a tax imposed on
(A) The net incomes of the companies
(B) The corporate properties :
(C) The utilities provided by the corporation

D) None of these
i fop o T T R 7 _

(A) Forfai 6l Het A (B) ﬁ’?_‘-'lmnnqw

i e —
— ——




3. What is the full form of FD1 »

(A) FﬂTEign Direct lnpul iﬂfﬂl Direct Investment

C) Foreign Direct Inves B) F |
‘F I;I ;‘%ﬁﬂ le; Iﬁm?chtmem :D] Fiscal Direct Input
(A) WNA Srtw ge TR, AR
. (B) frehe
uT ) TN STt TR (D) RFEwe TR 5
57, :E :t?!liute economic self-reliance was the main objective of which five year
(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fifth Five Year Plan ~ (D) Sixth Five Year Plan
s armey W & Fovw yadfa w1 g wm?
(A) ?ﬂ‘nﬂﬁ'ﬂ'ﬂﬂm (B) ﬁiﬂqaam
(C) et varadfa (D) G dawdfg qr
188, Which is also regarded as Disguised unemployment ?
lg’i Underemployment (B) Frictional unemployment
(C) Seasonal unemployment (D) Cyclical unemployment
gt Al ) ww w9 F ot v o @ 7
(A) ¥a-Tm (B) wdumess e
(C) drenhh SOl (D) R Sl
159, The capital of IMF is made up by the contribution of
(g)l g:t:inbﬂ Nations (B; Credit
( cit Finaneing (D) Borrowings
IMF 9 {5 wedh svarer gro ot et @

(A) WERI TSl (B) WiEe (C) mwfim (D) UK

160. ‘Price Index' is measured by change in
(A) Purchasing Powerof Money  (B) Living Standard
(C) Balance of Payment (D) Balance of Trade
#f aftada g0 HNe gEwE T AR |
(A) EAWUW(BE) FEE (C) YEAHIER (D) SHR HYEH

61. Bamboo is a type of
(A) Herb (B) Shrub (C) Grass (D) None of these

atR e S @
(A) 9T (B) Wi (C) W™ (D) Wit & o st

52. Which is the highﬂ?lta:nurce of protein ?
(A) Sunflower Soyabean (C) Grams (D) Wheat
T w0 YA o T G g

(A) gumet  (B) Whupfw (C) W (D) W

r—
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163. Which fruit has its seed out side 7

A) Strawberry (B) Banana (C) Cashew Nut (D) Groundnut
et 4 5 419 AIE R B 7

(A) wrf (B) en (C) w1 (D) e
164. The International year of Biodiversity was

=i Sa-fafaaer ad o

(A) 1990 (B) 2000 (C) 2010 (D) 2020

165. The largest source of pollution in the world is
(A) Herbicides and Insecticides (B) Automobile exhausts

C) Sewage and garbage_ (D) Industrial effluents
1 YEgT 1 A T30 6ia &

(A) TmeTeft 3 Freameh (B) =r&= e

(C) HeAAH 3N FI1-F=ll (D) ardifies amfire

166. Washing of peeled vegetables removes which vitamin ?
%}%Vitamin A (B) VitaminC (C) VitaminD (D) Vitamin E
Bt afenl w5 u A wm o fefn as s @ 7
(A) fraffmA (B) fefimc () "D (D) frefeE

167. How many times does the heart beat approximately in a minute i humans ?
(A) 25 times (B) 40 times (C) 72 times (D) 96 times
wgss 1 U TR | wea s feeh aw yewm
(A) 25N (B) 408N (C) 728R (D) 96am

168. Teeth and Bones acquire strength and rigidity from

(A) Calcium (B) Fluorine (C) Chlori D) Sodi
Y = u - unne. (D) Sodium
(A) #feggrd (B) WA (C) =Y | (D) wifemm 3

169. Which is known as Master Gland ?

(A) Pituitary Gland (B) Adrenal Gland
C) Thyroid Gland (D) Parathyroid
%mnﬁ: T H A AR 7

(A) T3l (B) sfgewuf(C) swa (D) v nRx
170. Rabiesisa

(A) Bacterial disease (B) Fungal disease
(C) Protozoan disease (D) Viral disease

0
(A) M i (B) F@wim  (C) Tandm (D) frmmpdm
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